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10:20] 2 [63ke#BH#RY—7"4E 1 2| 3 |48keifk 11a1HE 1~3] 2 [52ke#k 1[0]HE 1 2
4 |44ke#% 1018 3~6| 1 |63kefk)—78k 4 | 3|57ke#k 1[A1H; 3~5
2 [63ke Bk 7 8| 4 [48kefk 2[nIHE 5~8| 4 |52ke ik 2[A1Hk 6~9
2 |44ke R AEIRRE 9 10 | 1 [63kekY—78k 9 | 2 [5TkefR¥ERS 10 11
2 |63keBRY—7 k11 12 | 2 [48ke Mk YETRS 10 11| 2 |52ke ik HEDL S 12 13
1 [63kefk!—7 Bk 12
11:00] 1 [44kek el | 1 |48ke#k N3
1 |52kefk P | 1 [5Tke D5
14 14 13
KB TUA—I T 7
% ¥
11:30] 2 [50ke#k 1[E15% 12 | 6 [55ke#k 1Al 1~6| 8 |60kefk 1[A1HE 1~8
3 |73kefk 1E1#E 3~5 | 5 [81kefk 1Ia#E 7~11| 4 [66ke#% 1[A1HE 9~12
16{50ke#k 2[E1H 6~21 | 1 |81ke#ifk)—7 ik 12| 8 |60ke#k 2[E]HE 13~20
8 |50keifk 3[mlHk 22~29| 8 |55keifk 2[FIHk 13~20] 4 |66ke#k 2[AEk 21~24
2 [73keifk UEDLE 30 31 | 4 [81keifk 2[mIHk 21~24| 4 |60ke#% 3[m]H; 25~28
4 [50ke ik 4RIk 32~35| 1 [81kegME#kY—/ ik 25 2 |66ke L HEULE 29 30
2 [50keifk UEPLRE 36 37 | 4 [55keifk 3[nIHE 26~29| 2 |60keFLUET S 31 32
2 [81kefk HED: I 30 31
1 [81kgEAKY—7 i 32
2 [55ke Mk EP S 33 34
14:00] 1 [50keif% Pels | 1 |55ke % N3
1 |60ke % Pes | 1 [66ke N
1 |73kefk P | 1 [81ke s
40 37 32




